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PART ONE

Grammar and Vocabulary (1 point for each)

There are 30 incomplete sentences in this section. For each sentence there are four choices

marked A,B,C and D. Choose the ONE answer that best completes the sentence. Then write the cor-

responding letter on the Answer Sheet.

1.

10.

11.

12.

He was. to see the difference.

A. complete B. capable C. able D. qualified
. We are sorry to arrive later, but the car .

A. broke away from B. broke down

C. broke off D. broke up

great changes have taken place in our university since 1949.

A. A great amount of B. A great deal of

C. A lot of D. A huge quantity of
. She is engaged writing letters. '

A. at B. in C. for D. on
. Steel is made pig-iron(44£%) by removing some of the carhon in it.

A. from B. of C. up of D. up for
It to me that I might as well go with Thomas.

A. happened B. occurred C. seemed D. appeared
. The face of the city will be completely changed

A. long before B. before everything

C. before long D. before the world

All this has led great progress in industry here.

A. off B. on C. out D. to
. Peter, ,is a highly qualified teacher.

A. for a moment ° B. for instance

C. for a while D. for the. first time

You don’t tell me what you have done, but I know it .
A. instead B. though C. of D. on

The use of light metal in industry will a higher and higher percent.
A. be inclined to B. be in proportion to
C. amount to D. be equal to

the hottest place is the Red Sea.
A. On average B. On a large scale
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13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24,

25,

26.

27.

BFERETEHFR

C. On time D. On its own [ )|
Yesterday the students of our class went to visit a modern factory, they saw many

new-type TV sets.

A. where B. which C. of which D. as [ ]

I didn’t help him. I would have I didn’t have the money.

A. or B. but C. otherwise ‘D. still [ ) |

This bicycle is his, not .

A. their B. hers C. her D. your [ )|

If you want to a taxi, you have to pay over five thousand yuan to take driving les-

sons, .

A. drive B. ride C. take D. call [ )|

Youv read that article if you don’t want to.

A. haven’t B. can't C. mustn’t D. needn’t [ )|

“Come back at 5 o’clock,” he said, “and the job by then. ”

A. will have done B. has been done

C. will have been done D. will do : [ ]

You never told us why you were late for the last meeting, ?

A. weren’t you B. didn’t you C. had you D. did you [ )|

The next morning their stockings (1 & #) filled with all sorts of Christmas pres-

ents.

A. had found B. found C. were found D. would find [ ) |
to a high temperature, the metal was cooled in the air.

A. To heat B. Heating

C. Having heated D. Having been heated [ )|
to stay on the moon, or would you prefer to come back with me to the Earth?

A. Are you wanting B. have you wanted

C. Did you want D. Do you want [ )|
the letter, I ran out of the room to the post office.

A. After I had finished for B. As soon as I finished writing

C. No sooner than I had finished up D. Since I finished up to write [ ) |

By the time this course ended a lot about America.

A. T'll have learnt B.I learn

C. I had learnt ; ' D. I have learnt [ ) |

The success of the methods resulted the wide use of paper.

A. from B. to C.in D. of [ )|

Here notebook and report that I promised you last week.

A. is the B. are the C. was the D. has been a [ )|

I shall tell him the truth,
A. no-matter whether he likes it or not

B. whether he likes or not

m B (=
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C. whether he would like it or not

D. no matter he may like it or not [ ]
28. The oxygen atom is nearly 16 times the hydrogen atom.

A. as heavier as B. much heavy than

C. as heavy as D. more heavy than [ ) |
29. I have never been to Rome, but that’s the city

A. where I most like to visit B. I'd most like to visit

C. which T like to visit most D. what Id like most to visit [ 1
30. The new method seems the process much easier.

A. making B. having made

C. made D. to have made [ )|

I . Cloze Test(1 point for each)

There are 10 blanks in the following passage. For each blank there are four choices marked A,
B,C and D. Choose the ONE answer that best fits into the passage, and write the corresponding let-
ter on the Answer Sheet, '

Here are two useful suggestions for you to learn to be creative(F €/ £ 1).

Putting together things that already 31 . Tabatha Babbett was working at a wheel one
day. She could see twomen 32 work outside. They were having trouble cutting wood 33
a straight saw(4E). Babbett made the connection of her wheel with the job the men were doing.
Changing the shape of the saw might make it 34  to cut the wood, she thought. So the round
saw came into 35 |

Studying things that are like each otherin 36  way. In the 1870s, for example, Eli Whit-

ney was 37 for an easy way to get the seeds out of cotton. One day, he saw a cat trying to

38 a chicken through a fence. It was almost 39  for the cat to get hold of the chicken, but

it did get some of the feathers(3})&&). An idea suddenly came to Whiney's mind as he saw some-
thing close to the cat’s 40 and the problem he was trying to work out. Soon a machine for

cotton farmers was invented.

31. A. exist B. appear C. relate D. work [ ) |
32. A.in B. at C.on D. for [ ) |
33. A.on B. by C. at D. with [ ) |
34. A. wider B. easier C. broader D. stronger [ ) |
35. A. world B. being C. reality D. true [ 1
36. A. no B. same C. the D. some [ ) |
37. A. trying B. working C. looking D. seeing [ ) |
38. A. pull B. find C. put D. catch [ ) |
39. A. easy B. difficult C. probable D. impossible [ ) |
40. A. action B. attention C. achievement D. aim [ ¢ ) |

= B =)
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[l. Reading Comprehension(2 points for each)

There are 3 reading passages in this section. Each passage is followed by some questions. For
each question there are four suggested answers marked A,B,C and D. Choose the correct ONE and
write the corresponding letter on the Answer Sheet.

Passage 1

At 1 : 15this afternoon, Harry Litwack was sleeping in his office. At1 : 16, he was wide a-

wake. The floor was shaking under his feet. He looked around and saw that all the pictures on

his wall were crooked. What happened? It was an earthquake (}i &) but a very small one.
Small earthquakes occur in Midvale once every few years. If they are as slight as the one this af-
ternoon, most people don’t even notice them. But fifteen years ago, there was an earthquake in
Midvale that every body noticed. A loud noise was heard all over the town. And, as the people
on the street watched in horror, the entire Ford’s Department Store building broke and fell.
Luckily, it was a Sunday, and no one was inside, When will the next earthquake hit? How bad
will the damage be? Scientists spend a lot of time studying earthquakes, but they still can’t an-

swer these questions.

41. Harry Litwack awoke at 1 : 16 in the afternoon because

A. he sensed the shaking of the floor ‘

B. he had slept long enough |

C. he was hit by a falling picture

D. he was turned around by the earthquake [ )|
42. The word “crooked” in Line 3 most probably means ;

A. calm B. not clear C. not straight D. rough [ ) |
43. Which of the following is NOT true according to the passage?

A. No scientist can tell when there will be an carthquake in Midvale.

B. Midvale is often hit by earthquakes

C. Nobody was killed when the Ford’s Department Store fell.

D. Midvale has never been hit by big earthquakes [ )|
44. When the earthquake came fifteen years ago,

A. there was a loud noise |

B: a big crowd of people gathered on the street

C; people rushed out of the Ford’s Department Store

D. few people noticed it at first [ h |
45. How often does the earthquake occur in Midvale?

A. Every other year.

B. Once in a while.

C. The whole year round.

D. Several times in a decade. [ )|

P MR i3 (=2
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Passage 2

A man once said how useless it was to put advertisements in the newspapers. “Last week,”
said he, “my umbrella was stolen from a London church. As it was a present, I spent twice its
worth in advertising, but didn’t get it back.”

“How did you write your advertisement?” asked one of the listeners, a merchant.

»

“Here it is,” said the man, taking out of his pocket a slip cut from a newspaper. The other
man took it. and read, “Lost from the City C}lurch last Sunday evening, a black silk umbrella.
The gentleman who finds it will receive ten shillings on leaving it at No. 10 Broad Street. ”

“Now,” said the merchant, “I often advertise, and find that it pays me well. But the way in
which an advertisement is expressed is of extreme importance. Let us try for your umbrella a-
gain, and if it fails, I'll buy a new one.” -

The merchant then took a slip of paper out of his pocket and wrote: “If the man who was
seen to take an umbrella, from the City Church last Sunday evening doesn’t wish to get into trou-
ble, he will return the umbrella to No. 10 Broad Street. He is well known. ”

This appeared in the paper, and on the following morning, the man was astonished when he
opened the front door. In the doorway lay at least twelve umbrellas of all sizes and colours that
had been thrown in, and his own was among the number. Many of them had notes fastened to
them saying that they had been taken by mistake, and begging the loser not to say anything about

the matter.

46. According to his advertisement, anyone who would receive ten shillings.

A. found the' umbrella

B. gave a message

C. left the umbrella at No. 10 Broad Street

D. left the umbrella in the City Church | - [ ) |
47. The result of the first advertisement was that

A. the man got his umbrella back

B. the man wasted some money advertising

C. nobody found the missing umbrella

D. the umbrella was found somewhere near the church [ ) |
48. The merchant suggested that the man should

A. buy a new umbrella

B. go on looking for his umbrella

C. write another better advertisement

D. report to the police [ ) |
49. Why did the merchant say “I often advertise and find that it pays me well”?

A. He knew how to advertise.

B. He had more money for advertising.

C. He found it easy to advertise.

= =] = %
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D. He had a friend in the newspaper where he advertised. [ )|
50. “If it fails, I'll buy you a new one” suggested that

A. he was quite sure of success

B. he was not sure he would get the umbrella back

C. he was rich enough to afford a new umbrella

D. he did not know what to do [ ) |

Passage 3

Dear Doctor,

My husband and I got married in 1965 and for the first ten years of our marriage I was very
happy to stay home and raise our three children. Then four years ago, our youngest child went to
school and I thought I might go back to work.

My husband was very supportive and helped me to make my decision. He emphasized all of
the things I can do around the house, and said he thought I could be a great success in business.

After several weeks of job-hunting, I found my present job, which is working for a small
public relations firm. At first, my husband was very proud of me and would tell his friends, “My
clever little wife can run that company she’s working for. ”

But as his joking remark approached reality, my husband stopped talking to me about my
job. I have received several promotions and pay increases, and I am now making more money
than he is. I can buy my own clothes and a new car. Because of our combined incomes, my hus-
band and I can do many things that we had always dreamed of doing, but we don’t do these things
because he is very unhappy.

We fight about little things and my husband is very critical of me in front of our friends. For
the first time in our marriage, I think there is a possibility that our marriage may come to an end.

I love my husband very much, and I don’t want him to feel inferior, but I also love my job.
I think I can be a good wife and a working woman, but I don’t know how. Can you give me some
advice? Will I have to choose one or the other or can I keep both my husband and my new career?

Please help.

51. The letter was most probably written

A.in 1975 B. around 1980 C. four years ago  D.in 1965 [ ) |
52. The writer thought she might go back to work because

A. she had to help support the family

B. all her children had grown up

C. she was tired of house chores

D. her youngest child was at school [ ) |
53. Her husband when she first found her present job.

A. was very critical of her B. felt disappointed

C. was proud of her D. was happy but critical [ ) |

54. Her husband stopped talking to her about her job when

. B 3 (D
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A. she received promotions
B. she made more money than her husband did

C. her husband was very unhappy

.

D. both' A and B [ ]
55. The dilemma of the working woman is a choice between
A. husband and children B. children and work
C. career and money D. job and marriage : [ )|
PART TWO

IV. Translate the underlined sentences in the following passage into Chinese(20 points in all)
A liquid presses on the sides and on the bottom of the container which'it rests. It exerts a

force both sideways and downwards. (56) A liquid also exerts a force upwards on any object

which is placed in it. If you push a rubber ball or a plastic boat under the surface of the water in

a container, you will feel the upward force against the bottom of these objects. A liquid exerts a
force in every direction.
When a liquid presses against the container in which it rests, we say that it exerts a force.

(57)Force, however, is not the same as pressure.

(58) The presure exerted by a solid object depends on the area of contact between the object

and the surface it rests. The pressure is measured by the downward force of an object divided by

the area of the surface on which it rests.

(59) The pressure exerted by liquids, on the other hand, depends on depth. The pressure at

any point in a free—standing liquid is directly proportional to its depth below the surface. (60)If

a point A is twice as far below the surface as another point B, the presure at A will be twice as

great as the pressure at B,

V. Translate the following into English(2 points for each)
61. FERAM, EMABE—ERHFE, (share)

62. WATM ZFE4FI X ER L. (put... to use)

63. RMYPBAE - AV EMAEE. (none)

64. RRMT KSR SIM. (as far as. .. be concemed)

65. MR IESER HEBPATRIDHRE ., (take. .. as)

= 3 (DI
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I . Grammar and Vocabulary

1. [analysis] FXAMRBEFIAFA ., 2EWRK . GEFER. A. T2, B.E®.C. B D. F%
WE, AR . FEHBAEA be capable ofsbe qualilied for 5 BH&1M. .. .

[keyl 3% C.

2. Lanalysis] #F3C.HATBRB T . BAKEEPFRRT ., AR GEER. A JRE B g
BT C.4l D. R Y. RECERFEER.

[keyl ik B. ,

3. Lanalysis] F3X:AM 1949 FRR , RN KEEE TIFLS T, MR . HEXS. AR
RYKB” BEAT A, a certain amount of TR ” B. BRI L7, AT B LA,
C. alot of FARVFZ7, il 1 | B # ial s AN ] 2% 1), D. a huge quantity of RiR“IHFE”— M
AT 84 16) , ARIEH) B, changes BRI $&iAl. '

[keyl & C.

4. Kanalysis] B30 AEFEF, ABMR. GHEHBE. be engaged JSEA# 0 Fin . be on
gaged to sh. FR“EH--iT#F”;be engaged in FRNE- ,fF”,
[keyl 1% C. '

5. [analysis] #FICEEBREELRBEWRELRTH. BN GIEHEE. be made from iR
CRR T, BRE T HETL, BEARLEM K. be made of FRH -l ”, —AEETYHE
4L, B3 WK, be made up of F7R“Hi 4 n” B h JLA 53 FAML . be made up for KR
“orEb”,

[keyl 3 B.

6. Lanalysis]  F30-REE &L, RAYFE Thomas % AR : FhiA P . happen to sb.
FERBEARETHEER”, it occurs to sb. that 8 it comes to sb. that FR“FEABRFEHE",
it seems to sh. that #R“XFFEAME -7, D. it appears to sh. that FR“KF M= FKR+"
[keyl i% B.

7. Lanalysis] ¥ AA, XEBHHEREDRSE. AEM K GEHFHT. A RRZBAU
M”—MATFERN. C &2 AR7—BH T8 RE,

[key]l i% C. '

8. [analysis] FX-FIAXEIFETXILWINMTIUHWE K#EL. AWK 4115]9&1 & BT,
lead to sth. #R“GH,5|8”,
[keyl i D.

9. [analysis] 3. B8N, Peter B— 1 EH S BN, AWK EEHNT. A,CHRR“—
£)L”. B &R i, DERE—W.
[keyl 3% B,

10. Kanalysis] B3 ARBH EVFRFBT M4 HRREHEME, AWK GEFER, kow

of sh. /sth, R B MAE AR -

R - - 8 >



11.

12.

13.

14

15.

16.

17.

18.

19.

20.

21.

22.

FERSE=SR® +

[keyl i C,

[analysis] B :-BRERETUHMNALAS EAMBREE. 28K BEHT. A6
m¥.&5... ;B.5...BH;C. b7 D.5...F%E,FF.

[key] i C. '

CanalysisHESC P HR U, AN T RAE ., ABMKL - EiEH M. A F¥i; B. KK
5 C. BBt D. 247 .

[keyl i A, _

Lanalysis] B3CGHEX, RIMAVFAZEZSU-AHRLT) . ERBEMII LB T A SHUEH
Pl. WL EENAIHXRRFERXFZBE. a modern factory f2 b 21, i & R @l 5 57
where

[keyl % A,

. [analysis] #30-REAFM, RLFM.ARBEEFR. AWK BRIES. 1 didn't have

the money & EI 5% . BOEHER A FRREH7H but. W2 1 had have money 2 HE R & 14
RN R R R AT A

[keyl i B.

Canalysis] #3XWMAFTERMGEN, AREN . FEWX . 2ARYERASRFAEY £
i . AR 4 A 40, ik B.

[keyl % B.

[analysis] 30 MR RAEFF B, RATE 5000 BoE LK, A FFHH B, —BAH ride a
taxi, C. e H#H,D. | —HHH.

[keyl % A.

[analysis] B MREAEHBADEXRFXE. ARRKEEL”, BRRFEBER”, C
RARBEILE”, D ERALE",

[keyl i D.

[analysis) #F3C:“5 mAPEIR”, ik, Bt , TESTERT 7. 2B R . HRTEME. 5T
FiEEY Vg,

[keyl i C.

[analysis] #FX:AMHRANEKREFERBRLELKRFSRBRE T, 2E? ABWKL. R EER A, #5748
never Jg& & 5E ], U TR '
[keyl D,

[analysis] BXC-EF-_XRER MITWKEAHKEER TS HEILY. XEWK . find WA
2. FWAEAESA find sb. doing sth. By find sth. done, watAgshA .

[keyl & C,

[analysis] #FX:MAUR, SR XEZSFRAT . FENK: EIEERHEE. ZFE‘P
heat 5 F1& metal X R RBBIXER. X F3hii was cooled it £ K B H Z)\z;’un] heat
W FE cool Z i BT LA heat i 52 i, BRI D,

[keyl i D.

[analysis] #FX:AREEEAKR, AREREBAR? XEWK. 30 RRZRERK A
Yoo AMEM or MM AL RZBE RN A, /i m e,

[keyl i C. '

= 8 (=
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23.

24.

25.

26.

217.

28.

29.

30.

II.

31.

32.

33.

34.

35.

hEREBRETF®R

Canalysis] #3X.R—-BExE . RUABFFERBETHRE. AEMK. 2RA0HER. BT 1
Zhid) run JEWE A BN, BT LA A as soon as,

[keyl i% B,

[analysis] B3 -X[TRERE , RELTHFEZ X TFEENTF. 2B 5k 5B .
[keyl i A.

Lanalysis] B30 XEFEMRIIBE T Z3 AR, 2K shiE# R, result from £
ARRBTEAB”;result in RAR“FHE,

[keyl 3% A.

[analysis] B3 :XHER ERAFESFEWECEAMBRE. 2EMK: EF . notebook
Al report J&— {44 . [ B 4L

[keyl & A,

[analysis] 30 B¥GERMBEFHFER, TiRMRET ER. AN . RR 5E R K% 85 0 A
. no matter J5E A BEHE whether, —-ﬂi& how .when what 4, whether sb. does or not &
Rik .
[keyl i% B.
[analysis] ¥ -EEFREEFHILE 16 FE. ALK FHROMAE. as .. as BT
e 6] 5 T 25 1) JEOE '
[keyl 3% C.
Lanalysis] #3X:RAREIF D, BARE—IREXKBVEFT—FHRT . 2N EBEM
MRAZANRBGXRBAEMARE. K178 city RER— 1 # R % i, B E EF N A 38 visit &
Yzhinl . & ZARIA that 825215 o 7] 45 8% . 2 0L ia] i 4 spend, 30,1 often recall the years
(that) I spent in the countryside,
[keyl i% B,
[analysis] B30 FHPEFRELFEERBELB L. 2B K seem 5| R HESIHIE.
AARERIE R seem to do , i F“do” X4 7E seem Bhi7] Z B, BT LA B A seem to have done J§&
.
[keyl i D.
Cloze Test )
Lanalysis] AWK . SR P, A. FF4E;B B C. S5-I XD, THE. XFENGTHE
connection (n. CBK) , iR XERFE, MK C.
[key]l i% C.
[analysis] AR R : AR B, at work BAR“IEFETAE”,
[keyl i% B,
Lanalysis] AR . A Sk . R0 E A — P FR THM A
[keyl i D.
Lanalysis] ABPR . EHFRAXXS. A BERAK—&;B. 1555 -46,C. B |—2;D
EiRH g, MEREET -EBRZEEAENES . ik B.
[keyl i B, ‘
[analysis) ZAEER . E1EHPE . come into being "I fF7E”

= B =)



36.

37.

38.

39.

40.

42.

43.

44,

45.

IERBs==E®R b

[keyl i B.

[analysis}) AEHIRK . EiEX 4. A. in no way - ;3 B. in same way —ff F§ in the same
way H[E ¥ 5C. in the way P4ERE, §583;D. in some way PAERH .

[keyl i D. -

[analysis] AW MERHAC. look for LR FH”,

[keyl 3% C.

[analysis] ZABWHK - 31838 X X 53, A. #E,40;B. XR3;C. BE;D. ME. BAE—HF—
A~ catch hold of LHIUE, FAF B BREZRN D,

[key]l i D.

Lanalysis] AWK AR XX S, A &5 ;B BXE;C. 7T6E;D. Al . R4 ERA
D. B Yut L AR EIARS, '

[keyl 3% D.

[analysis] AR : 278 XX 0. A 31E;B. EE..E0:C BB D. Hir B . BRI\
B ER/NDEH B SRREME BB A TREFXBEKNITH.

[key] i D.

. Reading Comprehension
41.

[analysis] BEE—-BREZ. =4, KEN MBREHRF, MEALR. TUBHERN
A, ‘

[keyl % A, '
[analysis] RIFEFE —BAKE Midvale RETHE., HEB T E—-—ERHET.
[key]l i% C,

[analysis] AR#EASCE LA AT A midvale #&843 KHbE .

[keyl #D.

Lanalysis] ARIEXT+HERH— KB H AR, MY RE TRAWEF.
[keyl #t A.

[analysis] JEXRBERILEREE MR,

[keyl - % D.

41—45 23 0 407 H R,

46.

47.

48.

49.

50.

[analysis] MG, F=BEBRFAILEN A,.CEEHEERZL . HHELL,.TLLE
HESEMB L FEREREECHMARKIRARHA .

[keyl % C, '

[analysis] 40 Ff#A, F—BRBEE—AATUERB & B L TR IIARES,

[keyl i B.

Lanalysis] 453, ERERE T REE—AALUER ,BAEAAAIBT KRB
HE,

[keyl i% C.

[analysis} #Eig @, BE—BRATUBHERN C,

[keyl i C. '

Lanalysis] #Eig i, RE—BE_TALUEEBE R H58RAR.

< B (=

11
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51.

52.

33.

54.

55.

V.
56.
57.
58.
59.
60.

»

V.
61.
62.
63.
64.
65.

FERESSEM®

[key)l i A,

[analysis)  #fEi0 8. RBBE—-BE-TME 17, TS, AXEERE KA R 1980 4.
[keyl i% B,

[analysis] A HifRE . F—BBE—AUSH,. EB/NEFHRLET, FUBBERN
THE. ‘

[keyl i% B.

[analysis] 4T H S . RE=ZBHF -TEEXXER MBRASHRITEXPBHIR
% . 3F B it A B3R W] AFE Rk b3R8 RTh Y .

[keyl i C.

[analysis] HFELHIAE, FNBETUFTHXREMARMELKRBBEZE.

[keyl i% D.

Canalysis]  $SCH0E . BJ5—BCAl LA it A9 AL R Bl MR 1 A9 35 3% .

[keyl i D.

Translate the underlined sentences in the following passage into Chinese
R B, BAR BT RET EEMY &=L —FE LK.
R, 1L HAFERTFES.

B M E AR T E AR E TR E M ER.

AT BETERNENBRRTHRE.
RARBRERBRIERENAM. A KKNEHNR B RBHE.

Translate the following into English

Each three of us share a suite in our factory.

We are supposed to put these equipment into full use .
None of us can understand what he says .

As far as I am concerned , I will try my best .

He took telephone as.an indispensable device of daily life .

=3 3 ¢ )



